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SURFACE TOTALE : 150.26 m? - SURFACE HABITABLE : 117.38 m2 - ETAGES : 2 - PIECES : 12
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SURFACE TOTALE : 150.26 m? - SURFACE HABITABLE : 117.38 m2 - ETAGES : 2 - PIECES : 12
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SURFACE TOTALE : 150.26 m? - SURFACE HABITABLE : 117.38 m2 - ETAGES : 2 - PIECES : 12
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SURFACE TOTALE : 150.26 m? - SURFACE HABITABLE : 117.38 m2 - ETAGES : 2 - PIECES : 12

LARGEUR : 2.49 m - LONGUEUR : 3.60 m
SURFACE : 8.76 m? - PERIMETRE : 15.79 m
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SURFACE TOTALE : 150.26 m? - SURFACE HABITABLE : 117.38 m2 - ETAGES : 2 - PIECES : 12
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SURFACE TOTALE : 150.26 m? - SURFACE HABITABLE : 117.38 m2 - ETAGES : 2 - PIECES : 12
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SURFACE TOTALE : 150.26 m? - SURFACE HABITABLE : 117.38 m2 - ETAGES : 2 - PIECES : 12
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SURFACE TOTALE : 150.26 m? - SURFACE HABITABLE : 117.38 m? - ETAGES : 2 - PIECES : 12
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